LOG TRANSFER WITH FREQUENCY

TESTED BY: JOHNM.

MODEL: EWDM-6G18G-65-70MV-1

SERIAL NO: PL30198

Test Temp: 25C
Video Offset: 0.019

PLANAR MONOLITHICS INDUSTRIES
4921 Robert J. Mathews Parkway STE 1

DATE: 1-28-21 TEL: 916-542-1401 FAX: 301-662-1731
EMAIL: SALES@PMI-RF.COM
1SO 9001:2000 CERTIFIED
Frequency [ 65 [ 60 [ -55 [ 50 [ 45 | 40 | 35 | 30 | 26 | 20 | 45 ] 40 | 5 | 0 [RF Input Power (dBm)

ETTETEEAS INTERCEPT (mV) | 4940.1]
SLOPE (mV/dB) [ 70.301]

Measured Value (mV)

Error (mV)

LINEARITY ERROR (dB)
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ACCURACY ERROR (dB)

INTERCEPT (mV) | 4995.9]
SLOPE (mV/dB) | 71.24]

Measured Value (mV)

Error (mV)

LINEARITY ERROR (dB)

[-0.58 [ -0.05[ 0.05 | 0.07 | 0.27 | 0.14 | 0.34 | 1.00 | 1.10 | 1.29 | 1.6 | 1.29 | 1.43 | 0.32 | |ACCURACY ERROR (dB)
[8000 MHz  [INTERCEPT (mV) | 4981.1] 376 | 759 | 1122 | 1461 | 1817 | 2161 | 2514 | 2897 | 3241 | 3596 | 3930 | 4290 | 4632 | 4926 Measured Value (mV)
|SLOPE (mv/dB) | 70.359| 32 o 11 2 2 6 | 5 | 27 19 22 | a e e e ) T Error (mV)
-0.45 | -0.01| 0.15 | -0.03 | 0.03 | -0.08 | -0.06 | 0.38 | 0.27 | 0.31 | 0.06 | 0.18 | 0.04 | -0.78 LINEARITY ERROR (dB)
0.00 | 048 | 068 | 0.54 | 0.64 | 0.57 | 0.63 | 1.11 | 1.04 | 113 | 0.91 | 1.07 | 0.97 | 0.18 ACCURACY ERROR (dB)
9000 MHz _ [INTERCEPT (mV) | 4859.4] 411 | 795 | 1163 | 1501 | 1847 | 2176 | 2499 | 2833 3163 | 3491 | 3825 | 4192 | 4532 | 4845 Measured Value (mV)
|SLoPE (mvidB) | 67.601| 54 ] 22 22 30 21 3 2 6 -16 | .20 ) 11 -14 Error (mV)
LINEARITY ERROR (dB)
ACCURACY ERROR (dB)

(0000 WAz [INTERCEPT (mV) | 4856.3]

|SLOPE (mvidB) | 67.73

Measured Value (mV)

Error (mV)

LINEARITY ERROR (dB)

ACCURACY ERROR (dB)

INTERCEPT (mV) [ 4940.9
SLOPE (mV/dB) | 70.288]

Measured Value (mV)

Error (mV)

LINEARITY ERROR (dB)

0.05

023 [ 0.21 [ 033] 057 | 037 | 0.1 | [ACCURACY ERROR (dB)

INTERCEPT (mV) | 4959.8]
[SLOPE (mvrdB) | 71.07]

Measured Value (mV)

Error (mV)

LINEARITY ERROR (dB)
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0.56 | 0.61 | 0.67 | 0.86 | 0.40 | -0.19 | [ACCURACY ERROR (dB)

INTERCEPT (mV 4962.4
SLOPE (mV/dB) 70.982

Measured Value (mV)

Error (mV)

LINEARITY ERROR (dB)

0.56 | 063 | 061 | 0.86 | 0.64 | -0.06 | [ACCURACY ERROR (dB)

KELITRYLE INTERCEPT (mV) | 4984.9]
SLOPE (mV/dB) | 71.057|

Measured Value (mV)

Error (mV)

LINEARITY ERROR (dB)

0.20 |

063 | 0.71 | 0.90 | 1.07 | 1.16 | 058 | |ACCURACY ERROR (dB)

INTERCEPT (mV) | 4951.9
SLOPE (mV/dB) | 69.834]

Measured Value (mV)

Error (mV)

LINEARITY ERROR (dB)

ACCURACY ERROR (dB)

_INTERCEPT (mv) | 5001.9]

M ed Value (mV)
SLOPE (mV/dB) | 69.411| Error (mV)
. ; 2 ; ) LINEARITY ERROR (dB)
[136 [ 176 210 [ 163 | 1.52 | 1.60 | 1.23 [ 1.29 | 1.23 | 1.10 | 1.04 | 1.20 | 1.34 | 1.92 | [ACCURACY ERROR (dB)
[17000 MHz [INTERCEPT (mV) | 4913.6] 429 | 809 | 1177 | 1488 [ 1833 | 2191 | 2511 | 2844 | 3197 | 3520 | 3875 | 4228 | 4571 | 4935 Measured Value (mV)
|SLOPE (mv/dB) | 68.534] -30 7 33 1 3 19 4 | 14 3 237 -1 0 0 21 Error (mV)
-0.44 | 0.11 [ 0.48 | 0.02 | 0.05 | 0.27 | -0.06 [ -0.20 | -0.05 | -0.33 | -0.16 | 0.00 | 0.00 | 0.31 LINEARITY ERROR (dB)
0.76 | 1.20 | 1.47 | 0.93 [ 0.87 | 1.00 | 0.58 | 0.35 | 0.41 | 0.04 | 0.13 | 0.18 | 0.10 | 0.31 ACCURACY ERROR (dB)
[18000 MHz [INTERCEPT (mV) | 4968.3| 383 | 770 [ 1132 | 1448 | 1800 | 2159 [ 2501 [ 2861 [ 3221 | 3563 | 3920 | 4277 | 4613 | 4960 Measured Value (mV)
[SLOPE (mv/dB) | 70.217| 21 15 26 -9 -9 i 10 | A 8 4 5 11 4 -8 Error (mV)
-0.30 | 0.21 ] 0.36 | -0.14 [ -0.12| -0.01 [ -0.14 | -0.01| 0.12 | -0.01 | 0.07 | 0.15 | -0.06 | -0.12 LINEARITY ERROR (dB)
0.10 [ 0.64 | 0.83 | 0.35 | 0.40 | 0.54 | 0.44 | 0.60 | 0.76 | 0.66 | 0.77 | 0.88 | 0.70 | 0.67 ACCURACY ERROR (dB)
[Flatness [+-da8] [ 1.11] 1.05] 1.20] 0.99] 0.86] 0.92] o0.64] 0.69] 0.84] 1.09] 0.94] 0.85] 0.95] 1.45|
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Linearity Error VS Input Power
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